Downl oaded From : http://cbseportal.conl

SET-
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Candidates must write the Code on the
title page of the answer-book.

o U A B foh 39 TA-IF | Hled I8 11 § 91 2 Y8 AT % 3 |

o THUA H qfed TN hI AR U U FIg TR &l B IWYETH o TGI8 W
ford |

o FUN AR fh M IHATTH 22T F |

o HUAT TI T IW TG & FH & UgHA, T¥H T shHTh a9 o |

e T YHUA HI UG  fo1C 15 fire 1 Tm fean mn g | weA-uw o TR gatg
T 10.15 o fopam ST@T | 10.15 S99 § 10.30 S ek B had YI-9F hl Tl
3R 38 AT & GHH d IW-YIEIhT T HIg IR T8 faE |

e Please check that this question paper contains 11 printed pages and
2 pages of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

e (JgTf=re)

GEOGRAPHY (Theory)

AEifa a7 : 3 go2 S7ferBadH 3% : 70

Time allowed : 3 hours Maximum Marks : 70
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3G Y97 YT H Fe7 22 ¥ 8 |

@t 757 e &

o7 G 1@ 7 37la TY-I70T T7 & | T&F Jo7 1 37 FT 8 | T4 J97 HT
I 40 551 @ 3714 &7 &1 =MeT |

Y7 G&IT 8 & 13 TG-3707 J97 & | Tk o7 8 3% F 2 | 9 & Th T
qod STERT 397 & | Je% 97 & IR 80 - 100 551 & 37f9% 75T &
1T |

97 GEIT 14 G 20 FI-370F I97 & | T&F J97 5 37 H71 & | T4 Jo7 H1
I 150 V55! & 37fer g1 g1 =i3T |

X7 G721 7R 22 T W GG STaT THIH0 T9T YA faoryarsii
g qafera 397 § | I Fo7 5 37h T B |

379! 13T T v q9T YRA & I@T-FAE] i FTH-GIEAH G GFT T
R/

{GT-TfE] & 3@ & [o7q QT 77 2¥aeied & I717T 1 3FHIT & Tl
&/

General Instructions :

(i)
(it)
(iii)

(iv)

(v)

(vi)

(vii)

(viii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1 to 7 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 40 words.

Question numbers 8 to 13 are short-answer questions carrying 3 marks
each. Out of these one question is a value based question. Answer to each
of these questions should not exceed 80 — 100 words.

Question numbers 14 to 20 are long-answer questions carrying 5 marks
each. Answer to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and
labelling of geographical features on maps, carrying 5 marks each.

Outline maps of the World and India provided to you must be attached
within your answer-book.

Use of templates or stencils for drawing outline maps is allowed.
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1.

AU SR | 91 IRTET o fohegi gl ATl 1 Soai@ it | L
2 2

State any two advantages of air transport in the International trade.

ShITehTdT FHG!-ITH o THel IUFCd Y@ U i Iooid I | 1
State the major problem being faced by Kolkata sea-port.

e gt a6 il i T & e SoerEl Tl @ SRl a1 3gE
Eﬁm| £+i:1

2 2
Mention any two factors responsible for the establishment of cotton

textile mills in Mumbai.

“Tqel TshareheITdl’ <l Wewll i HedThd HIT | 1

Evaluate the importance of ‘quaternary activities’.

“grefster RIS <hY TeheudT <Al Sir= hifvT | 1

Examine the concept of ‘regional planning’.

0T, foea 4 U AR Wicsh Tdsd T 41 & 2 1

Why is India a popular tourist destination in the world ?

gig 3R faem # 3R Tse HIT | 1

Differentiate between growth and development.

“Sedl g8 SHEEN AR el faearur o wro S % sifadsyel 3w |
S hl UG ST G R 3T 2 |7 8 HUH 1 JoAThA hioT | 3

“Indiscriminate use of water by increasing population and industrial
expansion has led to degradation of the quality of water considerably.”
Evaluate the statement.

fova ® Tgeh diEed shi Tohedl diF TH@ FHEATSAT &1 Jui HIfT | 3x1=3

Describe any three major problems of road transport in the world.
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10. “F Sl § HEA He3 hl kg b oG ATER] H 35 fheliiet g SnfE #
‘T AT T 8 SR O9ad: 9§ WRA 1 THAT Uell 7, &l aeg-fa-as’
e oS oft Sifed B | 39 AW % dNF T 92 IR hl oHewd S S @
3R fafia SAfaat qen TggrEt AR I g3t 1 SAEH-IGH B § |7
STfh 3 =Rg o Gey H SHSIT USRI o Sited B ‘arg-fafis’ syaxen &%
el %! =ATIETd 3EUsT | 3
“Every January after the harvest season ‘Jonbeel Mela’ takes place in
Jagiroad, 35 kilometres away from Guwahati and it is possibly the only
fair in India, where ‘barter system’ is still alive. A big market is
organised during this fair and people from various tribes and
communities exchange their products.”
In light of the above paragraph, justify the values of ‘barter system’ in the
lives of the tribal communities.

11. = feu mu sm@ w1 e HifSu it sges = fau U sl % I
fafan . 1+2=3

(11.1) /AR 5 8 ot 4 ga8 31fYes T Saae foars 8 2 2
(11.2) 39 o1 o HEE/AR H ST & 3= HoheUl 84 o fohral & HRUT i
Wy Hifvu |

Study the diagram given below and answer the questions that follow :

/
,/ I,// )
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(11.1) Which class of towns/cities support the largest urban population ?

(11.2) Explain any two reasons for such a high concentration of
population in this class of towns/cities.

Fie:  FElCIREd 3o @ac gieanaa ghgmtdel & g, yv7 geq 11 & €9
WE:

Note: The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 11 :

T ° T Sfeaal <kt fordl 9 foiwanstt i saren hifse | 3x1=3

Explain any three features of urban settlements in India.

12. DI U0 & IYNT 3N oS 99 & I H 3= T HifT | 3

Differentiate between small scale manufacturing and large scale

manufacturing.

13.  “oTifH TR qUid: WTehideh TTEXUT o |1 AHSET ST L @1 3R HaAd: AHa
T AT 1ehT0T BHT |7 A 1 iee =il | 3

“The primitive communities lived in complete harmony with their
natural environment and as such the humans were naturalised.” Support
the statement.

14. “HIS9 HUE Td AN ST THIST o Siad-fafg & fou snferepefia afees
forad §; Ut TYfeh Tu | IS TUE % i T AR ot g e g 17
39 HeH 6 Jr= IV | 5
“Gathering and hunting are the primitive economic activities meant for

the subsistence of tribal societies, but in modern times gathering is
market oriented and has become commercial.” Examine the statement.

15. SHUEE & U9cd’ W bl URMING <hifow | fava § SHEwn & faawor i
JHTId T Il IR HIIeAsh AR shl ITEWUN Higd SITEAT <hIfTT | 1+4=5

Define the term ‘density of population’. Explain four geographical factors
affecting the distribution of population in the world, with examples.
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16. Tr=fiiad TS T8 o AHEA 1 AEEHIE® TR HiT R 3T = U

T T % I fAfeT

1+1+3=5

fopeft 50

(16.1) 34 < o1 9 fofau freek e & w18 T8¢ et 8 |
(16.2) 39 T8 ¥ 9 FFRI & 9M foifau |
(16.3) 39 T&X i fag WEEWR & foTU J09 1 Y9 gR F1 Hal I 8 ?

D&Ml oaded From : http://cbsepbrtal .com Courtesy :

CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl
Study the following map of the Suez Canal carefully and answer the

questions that follow :
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(16.1) Name the country through which this canal passes.
(16.2) Name the seas connected by this canal.
(16.3) Why is this canal considered a gateway of Europe to the Indian

Ocean ?
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Fig:  [AEliega 397 Faq giEETET gt & g, yv7 aem 16 F T

Note :

17.

18.

19.

20.

WE:
The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 16 :

(16.1) TS e fore 291 H 4TS TS B 7
(16.2) 8 8T % gHI TR & AYg-go-i & 9™ fefau |

(16.3) 38 &0 % U 3N T o forw anfdfer wawa &l Trse FIfSw | 1+41+3=5

(16.1) In which country has the Suez canal been constructed ?
(16.2) Name the sea-ports on either end of this canal.

(16.3) Explain the economic significance of this canal to Europe and

Asia.

IR # TaaW Jagq 3R Tui-ofd TUe0 gdeis Sd Jargdi o g8 Jeed
3T wea 6t fafem forg weer 2, Tase hifT |
Explain how ‘watershed management’ and ‘rainwater harvesting’ are the

methods of efficient management and conservation of surface water
resources in India.

I & TS Term b feregl uier foiwanati =1 v Hifvw | 5x1=5

Describe any five characteristics of National Highways of India.
“URA H e i S SR AT glg G GFI 95 el & 3TN §HA % €1
e =g &t € 17 36 s w1 ST ST |

“The decadal and annual growth rates of population in India are both
very high and steadily increasing over time.” Substantiate the statement.

‘Sl THTEE@ A AfUE TRWE AT Wk AESE IAUh (TS,
TITERUI-3TThA qAT T Holl ITcAed U & | B ohl S HITIT |

“The non-conventional sources of energy will provide more sustained,
eco-friendly and cheaper energy if the initial cost is taken care of.”
Examine the statement.
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21. HER % U MU TSHIfGR @AERE (98 13 W), ¥ fe@m T b9ta vimfaes
@I A, B, C, D 3R E hl 9g= hifvu 3R 37 Tl am F=fefga Smeed

&I Heg ¥ T U Tt T8 et W fafaw 5x1=5
A, IHE GHGI-9TH

B. TS a1y U

C. vqE raifies qem

D. =cierel YRl 1 Hgwequl &

E. #m &

Identify the five geographical features shown on the given political
outline map of the World (on page 13) as A, B, C, D and E and write
their correct names on the lines marked near them with the help of the
following information :

A. A major sea-port
An international airport
A major industrial region

An important area of nomadic herding

= o a W

A mega city

FiZ:  [AElEd 397 Fac giEaneaa qagndal g, 3 qea 21 & w9
wE:

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 21 :

(21.1) i o foreft v yg@ Tgdl-aeH 1 9 faReaw |

(21.2) IO o Tohell Th TS 91y 9o ol 9 AT |

(21.3) T TYH TS STHHT o Th HgqUl S T 1 Ieei@ hifT |
(21.4) YT 3THIRT § SeTaTell TR[EIRUT < Ush WUl & o1 AW fafau |

(21.5) TSl < fopelt wep T &Y 1 A feAfeg | 5x1=5
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(21.1) Name any major sea-port of Norway.
(21.2) Name any international airport of Yemen.

(21.3) Mention an important industrial region of Eastern United States
of America.

(21.4) Name an important area of nomadic herding in east Africa.

(21.5) Name any one mega city of Brazil.

22. WA % U TT TSHifaes W@wHte (I8 15 W), # Fefafea aeon & 5w
el @ Twise o 39 am fafaw . 5x1=5

(22.1) = <l JHE 3c4TIgeh T

(22.2) TIWS — TIg-3T%h @4 &5

(22.3) e H HEEYUl SEUTd HI

(22.4) <A H GlAUTaH SRS a1 qoH

(22.5) I 94 ° <g fufermm 9 s1fees SHge g R

Locate and label the following features with appropriate symbols on the
given political outline map of India (on page 15) :

(22.1) A major tea growing state

(22.2) Mayurbhanj — An area of iron ore mining

(22.3) An important steel plant in Karnataka

(22.4) An international southernmost airport in Kerala

(22.5) A city with a population of more than ten million in North India
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Fig:  [AEliad 397 o gIEETaT et & o, 397 G&IT 22 @ T W

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 22 :

(22.1) 9RA H 99 HT YHE IcUGH T HH-AT 8 ?

(22.2) nfsn A foret Ueh lig-37=h @ &3 Hl Jeai@ HINT |

(22.3) e U Toud Ush geaqul sedaTd s 1 AW foAfe |

(22.4) T B fopelt Teh SIS 9y va+ w1 9 fetfau |

(22.5) W % fohm T H TRl 1 o e T R 2 5x1=5

(22.1) Which is the major tea producing state in India ?

(22.2) Mention any one iron ore mining area in Odisha.
(22.3) Name an important steel plant located in Karnataka.
(22.4) Name any one international airport in Kerala.

(22.5) Which state of India has the lowest level of urbanisation ?
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I E. 21 % fow For question no. 21

o

~

TEN okl TolH1{deh G-HHE

Political outline map of the World
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I E. 22 % fow For question no. 22
WA hT WAT-UATARA (TSI oeh)
Outline Map of India (Political)
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